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Inthe midst of a debate on Decriminalization
of Politics running across political party, one
of the earlier measures to stop unethical
political affairs the Anti-Defection Law was
brought through

(A) 90™ Constitutional Amendment
(B) 91+ Constitutional Amendment
(C) 51 Constitutional Amendment
(D) 52" Constitutional Amendment

Which of the following movements that made
Gandhiji, a truly National leader ?

(A) Kheda Satyagraha

(B) Non-co-operation Movement

(C) Rowlatt Satyagraha

(D) None of the above

The values of x and y satisfying the
equations 2(ax — by) + a + 4b = 0 and
2(bx + ay) + b—4a =0 are

(A) x=2,y=7
©) x=3.y=84 @) x=1y=1

If — 3 is the zero of the polynomial
f(x) = 2x2 — (a + 1) x + 4a then value ofais
(A) -3 (B) 0

() 1 o) 3%

An object 5 cm in length is placed at a

1
X=——y=2
(® >

_ distance 20 cm infront of convex mirror of

radius of curvature 30 cm. The position of
the image is at
(A) 8.6 cm behind the mirror

‘ (B) 8.6 cm infront of the mirror

(C) 6.67cm behind the mirror
(D) 6.67cm infront of the mirror

1.

GETITON
Google Play

(N0 OTRTS RGO EL GO ERT AN

Triferer gett | Terifa o erqudieT 9T
e 3 A #, ariferer Tt Hd T &
v TR 30 % w9 7 ufd-hded =gfd
FEH o HISIH A A
(A) oatdfEmEmEeT

(B) 91 & @feram @it

(C) 51df gfaum gue

(py 524t wfem geneE

frefirRad 3 @ frg aridier A Wi F Th
g1 a1 s 7

(A) TS TR
By e Sider

(C) ol T

(D) T & I3 8l

TN 2(ax — by) + a + 4b = 0 3R
2(b>_(+ay)+b—4a=0®ﬁ§Q$@5ﬂ@Tx
ﬁ?y%ﬂﬂ% ’

(A) x=2,y=% (B) X=—§,y=2

© x=%.v=% @ x=1,y=1

Ife — 3 FFUEH f(x) = 22— (@ + 1) X + 4a <l
THIYIRAN aRAAR
(A3

(C) 1

w5811, TS ot g 30 8., s e
T I 99T o | 20 941, 3 g s
¥ | afciferer =t o= W |

(A) <du% 8.6 .1, v

4By Tdw % 8.6 .. wnl

(C) 3401 % 6.67 4.7 OB

(D) SU % 6.67 6.4, 3

Scanned by CamScanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ALL EXAMS,
‘ ONE SUBSCRIPTION |
@
70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
Previous Year 500%

ATTEMPT FREE MOCK NOW


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076

Addal247

|

f AR O o

6.

10.

11.

12.

Sgawl made up of embroidery work is called

(A) Kashmiri Shawl (B) Bagh
(C) Pashmina (D) Doshalla

Number of funptional items or administrative
powers given to Mun'icipalities undéf uen.
Schedule of the Constitution is
(A) 29 (B) 28
(C) 18 (D) 19

Mr. P started walking towards South. After
walking 15 metres he turned to the left and
walked 15 metres. He again turned to his
left and walked 15 metres. How far is he
from his starting point ?

(A) 15 metres (B) 30 metres
(C) 45 metres (D) none of these

In AABC, AB = 7 cm, AC = 13 cm and
BC =2+/30 cmthen |Bis

(A) 120° (B) 60°

(C) 90° (D) 45°

Complete the analogy.

Geometry : Euclid: : Co-ordinate Geometry : ?
(A) Rene Descartes
(B) Euler

(C) Cantor

(D) Newton

Bleaching powder is
(A) CaOCl (B) CaOCl,
(C) CaO,Cl (D) CaO,Cl,

Several Ganas used to make a
(A) Mandal (B) District
(C) Sangha (D) Hobali
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13. Which of the following cities is famously
called * Scotland of India’ ?
(A) Shimla
(B) Kodagu (Coorg)
(C) Ooty
(D) Darjeeling
14. InOctober 1907, A State Level Conference
was held by Lala Lajpat Rai and was called
as
(A) Quit India
(B) Azad Hind
(C) Swadeshi Andolan
(D) Sathyagraha
15.  Find the missing letters (?) from the options
| for BF, JN, RV, ZD, HL, ?
] (A) PT (B) LP
‘ (C) GK (D) QU
|
16. If3x -4y +5=0and6x—-8y+k=0
i represent the same line then the value of
kis
(A) 5 (B) 15
' (C) 10 (D) none of these
17. Home Rule League Agitation was started by
(A) Vivekananda (B) Sister Nivedita
(C) M.K. Gandhi (D) Annie Besant
18. [If21% of July was Saturday then 4* July was
of the same year was
(A) Wednesday (B) Thursday
(C) Saturday (D) Tuesday
19. The Andaman and Nicobar is separated by
(A) 10° channel (B) 8°channel
(C) 6° channel (D) 12° channel
20. Thedistance between the points (a+b,a—b)
% and (a—b, a+Db) are
(A) 0 (B) a+b
(C) J8b (D) none of these
D
A
&
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The age of A fathor in

the A0eR Of Wy PAIAL o the sum of

R n
the wum ot g o e, Atter 15 ki
tWice the aq :" :“\:"3‘ OFthe ehildien will e
A0 o the tather 1
the fathor Wher, Find the age of

(\) 40 voars

ol ) A vean
(C) 48 yeoars () 45 years

(1) 50 vouarn
Which State in the fallowing les o he eanl
ol Haryana @

(A) Rajasthan

(M) Uar Pradosh

(C) Himachal Pradosh

() Punjan

Threo cubes each ol the side t.5 em are

joined ond 10 end, the surtaco atoa of
rosulting solid i«

(A) 2076 ey’ (1) s ey
(C) 3026 eme (D) 32 emt

Which of the tollowing torm an Al ?
(A) 1, 1,202,048,

(1) 03,033, 0333,

(C) V2,2.2V2.4...

(0) 77eV2, 74202, 74002,

LI L}

I means 'S S means 'L moeans
and “trmoeana St then 10 dx 25 - hH 1 0 -
(A) 48 (B3) 63

(C) ah () none of theso

The tamous actress Juhl Chawla s trom
distriict of Haryana,

(A) Pinjoro (1) Hohtak

(C) Sonnet (D) Ambala
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The High Court building of Chandigarh was
designed by
(A) Edwin Lutyens (B) Le Corbusier

(C) Laurie Baker (D) Cornwallies

Area of the circle inscribed in a square of
side \/2cmiis

(A) %cm2 (B) %cmz
©) em? ©) Zem?

Archeological discoveries at

show that Haryana was a part of Mauryan
empire.

(A) Saranath

(B) Cylone

(C) Sugh

(D) Kurukshetra

Legislative Assembly of Haryana passes
laws on the subject included in the
Schedule of the Constitution.

(A) 7 (B) 8"

(C) on (bt 110

Who among the following named for the
‘most valuable player’ of Asian Games 2018

award ?

(A) Mary Kom

(B) Rikako lkee
(C) Bhajrang Punia
(D) P.V.Sindhu

Fore brain is specialised for
(A) Hearing
(B) Smell

(C) Sight
(D) Walking in a straight line
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Sterility ?

A .
(A) Cytoplasmic male sterility is total of

par‘tial male Sterility in plants.
This Phenomenon has a wider

application in plant breedi
ng.
(C) Both A and B are correct

(D) Both A and B are wrong"

(B)

Solutions of the equation
45 x® 4 3x 25 ~ 0 are

(A) V5,25 NS
o J5' 16

(C) Ny (D) V5,45

Read the following statements about
nationalism and choose the right one.

(A) It may leads to a formation of new
states by consolidation or unification
process

It may also leads to a break-up of
union or confederacy into a many new
states

(C) Both are correct

(D) None

-2 5

(B)

(B)

The underconstruction Mumbai-Ahmedabad
bullet train project is funded by

(A) Germany (B) South Korea
(C) Japan (D) France

Haryanawas formedonthe recommendation

of Parliamentary Committee.

(A) Sardar Hukum Singh
(B) Tara Singh

(C) Chotu Ram

(D) Chaudhary Devi Lal

If |CE’ is coded as 17 then ‘TEA’ is coded
o (B) 19

18
CR

GET IT ON
Google Play

——— e —— ‘

4/2018 (1) (E17)

33. FifirrEdr T Togar & ged § f=fafag 4
AFA-TFH TR 7

(A) FIIEFEHE T dordr qredt 3 qui a1
IR Waerar & |

(B) 39 Uit9ZT1 *1 9Igy =9 § =19+

UM R |

ey A BeHi et
(D) A3 BTH e &

34. G 445 x2 +3x 25 =0 F e 2

1 5,25 (B) %%
© F% o 5
35. UsARE & deiy A fyferfiad swuei w fammw
AT A |
(A) TEE G A1 CHIH 1 Giskan gro U
TS 1T ST Gha &
(B) IHH THIHEAT AT HHATE wgd-¥ U
‘ T4l H 72 qehell B
(D) =Ig el
36. Fmivnea e sreHeEE TRt 39 e
&1 etz TR ST @
(A) S (B) firor shifen
$ey ST (D) i
37. s & T fNuwdm 4
afifa it Tegfa wgg | . :
(B) ww f&e E 2
(C) BRI &
(D) =Nertt ¥ @ E B
38. uﬁﬁégm@wa‘r,aﬁ?ﬂ'aﬂ% |
(A) 18 (B) 19

oy 26

(D) 27

Scanned by CamScanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

>
£
o .
92
m (=) e T
E Q = )
H o H )
GLU ) =y wu
g v T T
r— . MR o
A = 3 - R
— ) IHJ.I —_Ni. - ~MJJ 1 ‘mw 13’{.- v L ——.H
— : X ol > dx
= H’:. ) “ us ~ ﬂJ.. " gn’ D wl =
v ity . . ‘.V 2 - ™
SERE b oo, vFE 4 L T
v o W \ N I Y [\ Au iy~ .~Q
v -wn Au .wu - 4 b3 4 ? 1 .
— -~ 'R N M L y I v g 7
= N N~ o™ TRNAY YR " \ Wy oW
— N Q 1 ..J N \ N ._7 . . ;
B= n TV N w e~ ) "y \Y oy 1y - U \ ;,
g m n 0 . v B v OR ) v N '
B s Ba \§N@ dui S NS N L :
g © Y Q o B Ve o) I SIRERY - S | = oA
RN - vl o o v v I S o ' o v
\J RIS S A \ A S W r
) ‘ v 0" N LA $ . " w e P
~ W W \ d 5 -~ — O O .
U g - > S _ﬂ. P N \"d m ¢ - " NN o
W W\ N r,n . _’ L ~‘, 1 | ( 1 — m — \ Jdev
R - \ . il Wy _/ Ay . - A.Q v — Al .
- h L »4 a A b - S 1) \ ) M
1 . - " G ¥ ~. | ! UNIN v ¥ ~ 8 b
{ N ﬁ_g N A Uy : At \ 3 aT.. W " y - \ (\3
e “ 4 " AU . - W AN D} &L < S \15
N\ clE N > BB ._“, Ny _ |t 7 W s .
W v W = W ™~ . 2y v \) o © vy AN ;w. :,.... t _J.,:
” S —~ o~ ¥ - LT NGl AR e N b Ao M ' - Hy \ g _
| SIS S JN ATy Y RYR 7 AR R ot w mPn ) M ”T,.. T
| s = > _., S AN o N N 7, A _,,, W __:. X hy - G v _n_ UL e R
_ M = 3 &) v Y e o v \ R () (R ] . v..,., *. _,: o
| ™ 3 v N \ —.. / ...* + - A ../,.,.;ﬁw, \ . W R, & ~‘ o Mo N . s;f o " 1 —W,.
“ M < SN B m oA R 3 s pa B0 Wl -1 NN _ IR
| ¥ DEOfa D ERR RGN B
—— & ) g N NS v - . o “/_ /_ ) - G i \
%) & et I 4 L S Ol Oy Y A AR C A PN AU Y
9 at ’ th Sy b a8 Qo _p.hﬂ.w_,,
» ’ ~ e " v 3 L . 1
! LN N..f, o mw \ ’ e 20 » .y N ’
! - & ) - D Vi dt € @0
| BRe 2 ¥ IR . 3 \0 «sSaLyg
Sig S ¥ e, fo= — 4 g .
O m¢ -y - ) ) - ﬁd ﬁ‘ a W J ks ' T —— .
R~ kS| v RIS S\ Lo N W oo N ¥ a
STy § @ § Py pES AR S a
SEEEETEE g o658 FUAE T g
o O - < QQ ol ; _ L . . W S
Cm e N® She © 2% o & SOk 3 v 8 N N
- ~ R ) | W BNy \ \
=M (LARS e =3 R0 = .-L woW w B 18Ry AT NS Q
Fo== g < & ras SOt SR80 8 kg ¢ v
- & g = ( : 0 W\ W SN \ i
O o.J = _.5 - n{ X .5 [ - F.J N W o =\ a..ﬂa (u J : b .
Ot 3 ) @ N Yy o W . ~ N o W \
- B> ....ﬂ W « W n W W\ \ \ oy - o
Q e Q L W E oo = ) { -~ = 2 v
Y& 9 F oo, 3 = ! N N AN 4 S - \
- £¥ § M..M & R 3 88 @ 2P 3 - BE § TR
= R R p: ; e > D v AN - - \ ~ LIRS 5}
N AR - o = X ) “ « ¥ ~— W ~ \ Y
NegO €5 RIS sy N > Rova g X
w PP ) 0 A wao bW I QY \ ol -\ o (] =)
I~ W %8 3§ W 1 N o = 5 O 94 B \ g W
£ R .w 8 & o5 - NN G W= 0 = v TR O R O w
-~ 2 q 2N ¥ DR K S & 1 G X ! AR S
o= i o X b O Q) [ IR X
q - 20 oo\ A a8 QO S Ny ew - I . N . N Y W) \
N u.’ P e - \ . G A Oow ’. W NN (S ..v iR » W\ ) W B 8 Y o
n Silze I¥eo deo ed fEsE aa @Al : TEEREY
=) 8 386 §36 3 Ef gRaon YH § 5 §% g R
o~ s O XL AR SR S S ¥ebt NI aBE R N :
n QN ® : O A Srl<alb teNn e R Yhow W@ f 8 ey
W oM oa A AR DB A A WM Bl NN
< . NN Q ™ W Al b N [ I - & W W % \ N
O - 8 £8T6 {4 SORR To RN T NN
< Z Sy 4#.” - <« T~ W o &..4 -ﬂ, ’m ’m \ .\,
d N T O X (&) &l N ‘. ,/ Uy »,Z _ﬂ
= 0 H-f O N "0’ i \
r R
A ~ NTOOB

Scanned by CamScanner


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

[T

47,

On which of the lollowing hil rango ls the
Doddabotta’ poak situatod 7

: ~(A) Nilgirl hilg

‘ (B) Cardamom hills
(C)  Annamalal hill
(D) Nallamala hills

Haryana Stato shares Its boundary with
. humber of States.

B) 6

(D) 3

A 5

49. Name the fluid tissue similar to plasma

of blood but colourless and contains less

protein,
(A) Platolots (B) Dialysing fluid
(C) Lymph (D) Pleural fluid

50.  With reference to modern farming in India
consider the following statements.
1. Itled o green revolution in agriculture
productions in 1950's.
2. ltintroduced the High Yielding Varieties
(HYV) of wheat seeds only.
3. Farmors of Punjab, Haryana and
Western Uttar Pradesh were the first

to try out the modern farming method
in India.

4. HYV seeds, however, needed plenty
of water and also chemical fertilizers
and pesticides.

Which of the above are true ?
(A) 2,3and4

(B) 1,2and3

(C) 3and4only

(D) 2and 3 only

51. Boo Ali Shah Kalandar was a
(A) Soofi Saint (B) King
(C) Fighter (D) Soldier

a7,

48.

49,

50.

51.

+C)

Ay 5

By aftem
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52.  Combination of Bagh and Phulkariis called | 52. @IWW — v A
as g
(A) Topi (B) Phag (A) 2t (B) ®IT
(C) Loor (D) Chope ef =) (D) =
>3 Find the word which is different from the | 53 ) fu 7 3 fraredt & i s T |
other 3 options given below. (A) THRET (B) =
(A) Ramayana (B) Panchatantra
(C) Mahabharata (D) Upanishad (C) TR \Bf Iufree
54. Theatre on Bikes is a project started by 54. aFmfR@ae__ gyEfEw
. ™ |
(A) Satyajith R
) Satyajith Ray A -
(B) Shyam Benegal B) AT T
(C) Manish Joshi Bismil (C) wirw sireft fafare
(D) Karna Prasad (D) =i wETE
S5. It P(E) = 0.73, then probability of ‘not E'is | 5. Al P(E)=0.73, & ‘ ET W i w2
(A) 03 (B) 0.27 (A) 0.3 \(BY 0.27
(C) 0.25 (D) 0.37 (C) 0.25 (D) 0.37
56. Yamunariverenters Haryana near 56. I A Bl 3§ TFUEY
forest. TN A R |
(A) Kalesar (B) Bandipur WAY wferar (B) =€
(C) Gir (D) Satpura (C) fir (D) Hage
57. Which of the following materials has lower | 57. Frefofaa % 3 frg oy % gagTafierar
resistivity ? TR
(A) Silver (B) Constantan Wy =i B) e
(C) Manganin (D) Glass (C) M D) Ty
58. Arrange the following in the chronological | 58, FITFRTIAR Frferfag ey &1 |
order. 1. 3T yE
1. August Offer ;
2. Poona Pact 2..qm
3. Third Round Table Conference 3. mjﬁa ¥ e
Choose the right code. Hﬁ%ﬁ? l
(A) 1-2-3 (B) 3-2-1 (A) 1-2-3 B) 3-2_14
(C) 2-3-1 (D) 1-3-2 Sy 2-3_4 ©) 1-3_5
D -10-
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- 61.

63

60.

62.

O A OO

59.

Value of cos2 300

+ sin2450_ 1
(A) 0 3

(B) 1

© % o ¥

tan260° is

The present.day Haryana came under the
control of British ry|e in the year

(A) 1803

(B) 1777
(C) 1600 (D) 1781
Highly reactive metal among the following
(A) Lead (B) Iron"
(C) Copper (D) Zinc

Which of the following does not constitute
under Balance of Payment List ?

(A) Budget estimation of external
borrowing

(B) Transaction between India and foreign
countries

(C) Transaction between India and IMF &
World Bank

(D) Grants given to Union Territories

Consider the following statements regarding
nuclear minerals and nuclear power

stations.
1. In Rajasthan and Jharkhand we have
large deposits of Uranium minerals.
2. Kerala has large deposit of Thorium
material.
3. As of today Orissa State has no
nuclear power station.

Which of the following is not correct ?
(A) 1only
(B) 2only
(C) 3only
(D) none

GET IT ON
Google Play

4/2018 (1) (E17)

59. cos?30°+ sin?45°- % tan?G0° &1 A &

(A) 0 (B(

1
o ) © Y
60. Tl o ehamn ffer e & Frsor & ad
|
A 1803 (B) 1777
(C) 1600 (D) 1781
61. Pmfifaa i 3=a arfafrnefie urg @
(A) e (B) &l
(C) dian {of st
62. Frafiifaa 3§ & a-a yprae Hger g & ..
it = e ? ‘

(A) SITE 0T} <1 sISTe STFAT
(B) W 3t fawri & ff ataw
(C) Wra 3 IMF 3l farga A ¥ i
AT
(D) T &1 A faw M rRE
63. R @fe sicnfiehy s gaal & gay
7 fraferfiaa swemt wt famm iR |
1. TsTedm 3R s Rfem afis S
MR R | 1
2, I 1 AW & gue Wer R |
3. oS A arlla ak N usy A wé
ey Tl v Al @
frafafaa d @ e-mum adi @ 7
SAY F
(B) oad 2
(C) *ad 3
(D) hr§ e

|--"-—v—“gf‘  codll W |

el
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64. Regarding food, Haryana is called as
(A) Land of roses
(B) Land of thorns
(C) Land of smiles
(D) Land of rotis

65.  Which is the smallest district of Haryana ?
(A) Hissar
(B) Faridabad
(C) Sonipat
(D) Biwani

66. Find the number which is not like the other
3 numbers.
(A) 12336
(B) 12448
(C) 12556
(D) 12672

67. Seven times a given two digit number is
equal to four times the number obtained by
interchanging the digits and the difference
of the digits is 3. Then the number is

(A) 36

(B) 25

(C) 14

(D) none of these

A Commission for the Re-organisation of
States, according to language and culture
was set-up by the Indian Government, in
the year 1953, under the Chairmanship of
(A) Syed Fazal Ali

(B) Mahatma Gandhi

(C) Jawaharlal Nehru

{D) Subhashchandra Bose

-12-
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64. @ﬁ%@i@iuﬁ,m___m%'
(A) T bl
(B) il I
(C) T skl
oy AR o

65. T gheon o wed B foretl § 7
(A) fear
Bf wiEEmE
(C) |
(D) féam
66. o8 AT J1d R S 1 3FEART A PE ¢ |

(AY 12336
(B) 12448
(C) 12556
(D) 12672

67. T <1 Aehi hl HET ol T 0T 3G 3ich] B
T el T o ST S wh =R o 3
HI 37 T T 3T | o) G 2
(A) 36
(B) 25
(C) 14

B &

68. NI 1R Heepf 3 31w el 5 et 3
I TR G 1953 1 Uk a3y
\W s e ot
(B) WaTeHT Tifet
(C) a1 5w
(D) iz are

1
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(A) should
(B) will

fG) would
(D) must

“70« You____ have written 1o hi

_ Titt Im yesterday.
(A) dare ) ’
(B) will
JG} need

(D) oughtto
il in the blanks with correct options.

71. The battalion operating from the mountain

was able to

(AT tieup (B) teon

(C) tie down (D) te with

It's very kind of you to to speak
at the meeting.

(A) Comply By Agres

(C) Deny (D) Divide

(B) Healthy
(D) Fine

(A) Restricted
(B) Complete
Mystenous

GET IT ON
Google Play

412018 (1) (E17)

English Lanqua

Choose the correct form of the verbs from the given
options.

75. to go out, but | had too much

I
work.
(A} have hoped

(B) have been hoping
(C) had been hoping

(D) hoping

to the bank manager yet ?
_W Do you write
M Have you written
(C) Were you writing
(D) Hawve you been writing

76.

Give single.words.for.each.of.the following

EXDIESSIONS.

77. _Aircraft with/two pairs of wings, one above

the other.
Jﬁ)/ Biography
(8) Biclegy
(C) Biopic
(D) Biplane

78. Incapable of making mistakes or doing
wrong.
(A) Infidel
(B) Infalible
*(C) Inefigible

\ua( Witerate

(D) Mislead

-13-
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ﬁgﬂi ‘mmrwmaﬁ%

79. "TTSHI YK el & Ay A ‘gee 9 | 86 ,

qﬁiﬁﬂigﬁgifl Jeaw (A) ;EﬁlaiquiFﬁGH;laaF“
(A) =AfeaTee da, gfeem, wh ae , FH (B Agea B

FIE, Yo A () e S A
(B) W T W, ufs ,

I, m?%ﬂgw () sl &
. w%mg%mgm g, ‘ﬁﬁﬁwq%‘j’wamﬁmmﬁﬁrf@m
B ftarers g, whfi, o oo, o (A) i & 7y gt STt |

I, ‘a1 @ for o By A 7o vl ST |

' J 7Y e |

ﬁ?ﬁﬁmq&gﬁﬁq_m (D) &RH 7 9T T |
HAR BT & ? : :
) I ® By 88. AT + 3N = ‘ST, wIAE Gt g ?
(C) Bergae (D) THF ) e EfY (B) T EfY

81. "I’ Y18 AT -1 et ) e 7 (€) Fhaafs (D) ferert wifty
() § (B) ¥ 89. Freffiaa # A ‘s’ S -
©f fr o B a ‘o’ &1y wee

T2 |

82. 'SIg’ a3 I wgaEd w9 2 it ®) 33
(A) s (B) =gq (C) = (D) 3fa
(C) =g o7 g

83. T HHH ="M M’ 9% F-q1 a7 9. ghferd o
(A) T Wy (B) wgHfE (37) (=)

() Tege (D) T 1. T 3. 56

84. I frAa @RI a7 : :;T_[ . 87
Ay R (B) W @ Fi 3. 69
(C) W™ (D) Wi ‘(‘ IR - fiias

A) 1 -

85. Twiciaa # @ Wt adt &1 = Aifva | (sz_a 2-% 3-a3m 4-%
(A) S (B) whrEhr @ M2-% 3_y 4-3
() weltfieat 1Y sfifen e L2-% 3o 4_am

U.)h T 2-W a4 4oy
ﬁ\

o
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